BA=AR T(a,30 —a,30,a)

AABC bR P o2 TEBOAEIILR D L E,
BAH=ZAT L L,
T(a,b,c,d) £7& T(a,b,c,d, e)
LR,
SR
a+b=30° ¢c=30°, d=a D& EX e=2b
AERHLE T(19,11,30,19) 2SR L TL 12 & W0,

a b c d e a b c d e a | b | c d e
1129130 1 |58 11 19|30 |11 38|21 |9 |30]21]|18
2 (28130 2 |56 1218 (30|12 |36 22| 8 |30 |22]16
3 (27130 3 |54 13|17 30|13 |34 23| 7|30 |23]| 14
4 126 |30| 4 |52 14|16 |30 |14 |32 24| 6 |30 |24 ] 12
5 (125|130 | 5 |50 151530 |15 |30 25| 5 |30 |25]|10
6 (24|30 6 |48 16|14 |30 |16 | 28| 26| 4 |30 |26 | 8
7 123130 7 |46 || 17 (13|30 |17 |26 27| 3 |30]|27] 6
8 [ 2230 8 |44 | 18 |12 |30 |18 |24 || 28| 2 30| 28| 4
9 21|30 9 |42 1911|3019 (22|29 |1 |30]|29 ]| 2
10 |20 | 30 | 10 | 40 || 20 | 10 | 30 | 20 | 20




